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QUESTION 1

The router running the OSPF protocol reaches the FULL state first, and then synchronizes the LSD() 

A. True 

B. False 

Correct Answer: B 

 

 

QUESTION 2

As shown in the figure below. All switches enable the $P protocol and keep other configurations in their default state.
When the network is stable, are the following statements correct? () (Multiple Choice Questions) 

A. Both ports of SWC are in Forwarding state 

B. Both ports of SWB are in Forwarding state 

C. SWA is the root bridge in this network 

D. SWB is the root bridge in this network 

Correct Answer: BC 

 

 

QUESTION 3

The network administrator has decided to configure link aggregation in the enterprise network. Which of the following
represent advantages of link aggregation? (Choose all that apply.) 
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A. Load balancing. 

B. Improved bandwidth. 

C. Improved security. 

D. Enhanced reliability. 

Correct Answer: ABD 

 

QUESTION 4

Which of the following protocols consist of the PPP agreement? ()* 

A. NCP 

B. PPPOE 

C. Authentication protocol 

D. LCP 

Correct Answer: ACD 

 

QUESTION 5

All the devices in the picture can communicate normally. Is the corresponding relationship between the MAC address
table of $WA and the port correct? () (Single-choice question) 

A. MAC-AG0/0/2 MAC-BG0/0/2 MAC-CG0/0/3 

B. MAC-AG0/0/1 MAC-BG0/0/2 MAC-CG0/0/1 

C. MAC-A--GO/0/1 MAC-B--G0/0/1 MAC-C--GO/0/3 

D. MAC-A--GO/0/1 MAC-B-G0/0/2 MAC-C-GO/0/3 

Correct Answer: D 
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